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1. Two landscapers are attempting to pull a loop out of the ground.  One pulls with a force of 155N while the other pulls harder with 175N of force.  The two forces are 90o apart from one another, as shown below.  What total force is exerted on the loop?
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2. The speedboat below is traveling at a constant speed and the skiers are staying in the same position with respect to the boat.  If the tension in the rope to skier number 1 is 150N, what is the tension in the other skier’s rope and the rope from the boat?
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3. A drum of water is suspended from a corner as shown below.  The drum and its contents weigh 500 N.  What is the tension (force) in each rope?
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